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I.Read the given passage and answer the questions that follow.

As years tick by, the world’s oceans are becoming more and more polluted. Humans are
responsible for this pollution. Therefore, it is our duty to clean up the oceans around the world
for future generations. Most of the pollution in our oceans start on the land. People throw trash
into the nearest body of water, and it eventually ends up in the ocean. Many people and animals
are affected by ocean pollution. In fact, more than 70% of the earth’s surface is covered with
ocean water, so it would be hard not to be affected by this pollution. Animals eat the debris that
is floating in the water or washes on shore which damages their digestive system. Similarly,
thousands of ocean animals are killed each year by toxins in the water. Not only animals are the
victims of the pollution, humans are also affected by ocean pollution. Marine life is the main food
source for many cultures around the world. Also many people enjoy beach and water activities,
but who would want to be in the water with trash and chemicals. To tackle this problem, first of
all, everyone needs to make an effort to dispose off their trash properly. Organise clean-up
crews who walk the beaches and pick up trash before it makes it to the sea. It is important to
recognize ocean pollution as a worldwide problem and contribute to the solution by donation
time to the cause.

a) How are humans responsible for ocean pollution?
b) In what ways are animals affected by the ocean pollution?
c) Complete the sentence:
Marine life is the main
d) Find the word from the passage that means:
To make an effort to deal with a difficult situation
e) What are the different solutions to clean up the oceans?
I1. Fill in the blanks with the right form of the adjective in brackets.

This pen writes (good) than my previous one.

This is the (old) castle in Britain.

Luxurious hotels are (expensive) than those of economic class.
It’s the (difficult ) rule of all.

Kenyans are (good) sprinters.

III. Complete the sentences with appropriate determiners.

There are children outside the room. (many/any)
Give me time to decide the matter. (a few/ a little)
There is truth in what he says. (some /many)

IV. Fill in the blanks with the correct phrasal verbs.

Sophie bent down to her pencil. (pick out/pick up)
The children the playground climber and ran home.
(got off / got on)

The students for the national anthem.

(stood out/ stood up)
V. Choose the correct homophones.

The baby’s (weight/wait) was healthy. They could take their (son/sun) home.
The brave (night/Knight) fought off many enemies, however he was scared of the dark.
He stayed in at (night/Knight)

Ted added all the money and found the (some/sum). He counted right until the last

(scent/cent)



Subject: MATHEMATICS

1.Write 265.089 in a place value chart and write its number name.

2. Write as a decimal: a) % b) 6%

3. Write as a fraction: a) 0.08 b) 57.46
4. Change to like decimals: 9.54, 87.208, 15.2, 624.42
S. Arrange in ascending order: 71.34, 71.034, 71.403, 71.09
6. Add: 50.258, 3.36, 123.56, 0.147
7. Subtract: 86.24 — 69.159
8. Multiply: 48.15 x 36 b)
9. Divide: 53.24 + 8 * K
10. Name each angle in two types. Measure each
angle and say what type it is.

11. The cost of 5 mangoes is ¥ 127.50. Find the

cost of dozen mangoes.

12. A train covers a distance of 108.9km in 18
hours. Find the distance it covers in 1 hour.
13. Draw the following angles using protractor and say what type of angle itis. a) 50°0 b) 125°

Subject: SCIENCE

1. What immediate action will you take in the following situations?
a. A person suffers a deep cut.
b. A person’s clothes catch fire.
c. A person is bitten by a stray dog.
2. Give one word for the following.
a) A deadly disease caused by germs entering the body through deep cuts/wounds
b) A piece of metal, plastic or wood that is used to support a broken bone
c) Bubbles on the skin caused by burning
d) A medicine that stops the growth of germs or kills the germs
e) This type of lever is found in pliers:
f) The winding ridge around the outer surface of a screw is called the:
g) This device is used to capture the Sun’s energy and convert it into electricity:
h) The first artificial satellite to be launched into space:
i) The first spacecraft to reach the Moon:
3. Answer the questions:
a) Describe the structure of wheel and axle. How does it help? Give examples of some
common things that have them.
b)Calculate the density if the weight of an object is 72 kg and the space occupied by it is 18 1.
c) What is the apparent weight of an object which weighs 89 kg in air and displaces 29 kg of
water?
d) State the rules of floating and sinking according to density.
e) Draw a neat labeled diagram to represent the lunar eclipse.
f) State three reasons why there can be no life on the Moon.

Subject: SOCIAL SCIENCE

—

. Name five scientists, five social reformers, five authors, five states men, and five sports
persons of our country.

Write a short note on Mother Teresa.

. Name the countries involved in the first and second world wars.

. Give three reasons why Indians were unhappy with the British rule.

Name the products that were traded by the Europeans from India.

. Name the Indian rulers who were a part of the Great Revolt of 1857.

On India political map mark the main centres of Revolt of 1857.

What were the reasons of India’s defeat in 1857 revolt?
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